[19:9:9:9:9:9:0:9.9:9:9:9:0:9.9.:9.9:0:0:9.:0.9:9:9:0:0.9.0.9.9:0:0:0.9.0.9:0:0:0.0.9.0.9:0:0:0.0.9.0:0:0.:0.0.0.9:0:0:0.0.9.0:0:0:0:9.0.9:0:0:0:9.0.0.9:0:0:0.0.9.0:9:0:0:0.0.9.0:0:0.0.0.0.9:0:0:0.0.9.0.9:0:0.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00001XX

Limit02 piecewise for No.9012
5x-5 x<23
Nol—[f(x)—[ Ay yo>— 3},61—3}

x |2.8000]2.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000|3.2000 |
I1-x : x<=$5
Nozz{f(x):[ 6 x>5}’“:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [x+2 x<4 ] )
6 : x=4
No3=|f(x)=| 6 ; 4<x<6|a=6
6 : x=6
L L1l —-x x>6 i
| x 15.800015.900015.990015.999015.9999|.. |la = 6|...]16.000116.0010]16.010016.100016.2000|

5x-5 : x< 3
Nod = f(’C)_L—x ;ox>= 3}
L[ao=-5,p=-1,y=0,0=6,e=3]]

x+4 : x< -5
Nos — fix)=|-4x-7 : -5 <x<1
-11 : x>=1

L[[a=-6,=0,y=7,8=1,e=-5]]

No6=[a=-11,p=-3,y=0,8=2,e=12]
DGR Te [CHE NNV 1N D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:0.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL XKL KKK KKK KKK KKK KKK X XKKXXKKXXKKXME6/1-6400503-00002XX

Limit02 piecewise for No.9016
-2x-5 x<-2
Nol—[f(x)—[4x_2 o _j,a--Z}

x |=-2.2000]1-2.10001-2.0100]1-2.0010]-2.0001.. Ja = -2]...1-1.9999]1-1.9990|-1.9900|-1.9000|-1.8000
T—x : x<=2
No2:[f(x)=[ 4 x>2}’a:2}
| x 11.8000]1.900011.990011.9990]11.9999|.. |la= 2]...12.000112.0010]2.010012.100012.2000]
i [9—x x<5 | ]
4 N x=25
No3=|f(x)=| 4 D 5<x<8|a=5
2 N x=38
L |—-6+x x>8 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

2x-5 : x< -2
Nod = f(’C)_Lx—z ©ox>= -2}
[[o=-6,=0,y=2,0=6,e=-2]]

4x+7 - x< -1
Nos — fix)=| 5—=x = -1 <x< 4
1 : x> 4

[ao=-7,p=0,y=2,0=4,e=-1]]

No6=[a=-9,B=-8,7=-58=-4¢c=3]
DGR Te [CHENNIV1 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKXKKXKKXXKXKXKKXKKX KK KK KK XXX KX KXKKXKKKKXKKXM6/1-6400503-00003XX
Limit02 piecewise for No.9018

3x-4 x<=-3
NO]:_f(x):_—4x+5 x>_3},a=-3_
x |-3.2000]-3.10001-3.0100]-3.0010]-3.0001].. Ja = =-31...1-2.99991-2.9990|-2.9900|-2.9000|-2.8000|
-1+x : x<=35
N02:_f(x):_ 4 . x>5},a:5_
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [9—x x<3 | ]
6 : x=3
No3=|f(x)=| 6 ;o 3<x<5|a=5
4 : x=3
L -1+x x>3 i
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

3x—-4 : x<=-3
Nod = f(’C)_[—4x+5 : x>-3:|
L[o=-4,=0,y=2,8=5,e=-3]]

1+x : x< -3
=] 2 s 3<x< 4
Nos = 3x+6 : x>=4

L[ao=-1,p=0,y=2,0=4,e=-3]]

No6=[a=-12,B=-10,y=0,86=2,c=3]
DGR Te [CHE NN IVIVCH IND:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0:9:9.9:0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00004XX

Limit02 piecewise for No.9036
— < ]
Nolz[f(x):[6x 7o },azl}

-2x x> 1
x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
2 Dox<=4
NoZ:[fx :[ a=4
() T—x : x>47
| x 13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000/
X x<3
4 x=193
No3=|f(x)=| 4 5<x<8|,a=8
4 : x=38
L L12—x - x>8 i
| x |7.800017.900017.990017.999017.9999|.. |Jla = 8]...]18.000118.001018.010018.100018.2000]
6x-7 : x<1
) -|
No4 = 2x x> 1
[a=-6,3=-4,y=0,0=7,e=1]
-2x-1 : x<=-2
f(x) = 3 -2 <x<=2
Noj = (x)
4x+3 x> 2

[a=-4,3=0,y=7,0=2,e=-2]

No6=[a=-11,B=-8,y=4,56=8,£=9]
DGR Te [CHE NN IV1 X3 ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK LXK KKK X KKX KKK XKKXXKKXME6/1-6400503-00005XX

Limit02 piecewise for No.9037
S+x x<2
No]—[f(x)—[_sxJr2 x>2},a—2}

x [1.800011.900011.990011.999011.9999|.. |a = 2]...12.000112.001012.010012.1000(2.2000 |
x+2  x<3
No2:[f(x)=[ 4 . x>:3},a=3}
x [2.8000[02.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000(3.2000 |
[ 5+x x<3 | ]
6 : x=3
No3=|f(x)=| 6 ;o 3<x<5|a=5
6 : x=35
L L1+x x>3 |
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

S+x = x<2
Nod = f(x)_|:—5x+2 s x> 2}
L[ao=-5,p=-1,y=0,0=7,e=2]]

5x-1 x< -/
Nos — f(x)=| -6 ;o <=x< A4
l—-x x>=4

L[ao=-7,=0,y=5,0=4,e=-1]]

No6=[a=-11,p=-8,7y=6,5=8,£=10]
DG RE-Te [CHE NN IVI VSN IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:9:9.0.0:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00006XX

Limit02 piecewise for No.9138
3x+2 x< -3
No]—[f(x)—[_4_x . _3},61—-3}

x [=-3.2000]1-3.1000(-3.0100|-3.00101-3.0001].. Jla = =-31...1-2.9999|-2.99901-2.9900]-2.9000|-2.8000|
6 ox<2
NoZ:[f(x)z[g_x C e 2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ [x+2 x<3 | ]
5 : x=3
No3=|f(x)=| 5 ;D 3<x<6|a=3
7 : xX=6
L L1+x x>6 ]
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

3x+2 o x< -3
Nod = f(x)_[—4—x : x>-3}
[ao=-7,=0,y=2,8=5,e=-3]]

—2x+3 x<=-5
Nos — fix)=| 5x-2 : -5 <x<1
3 : x> 1

L[ao=-1,p=0,y=5,8=1,e=-5]]

No6=[a=-12,=0,y=9,0=10,e=12]
PN R-ET RN IINID 0.00.0:0:0.00:0:0.0.0.0.0.0.0.0.0:0.0.0.0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00007XX

Limit02 piecewise for No.9602
-3-x x<=2
No]—[f(x)—[6x_2 },a—2}

x> 2
x |1.800011.9000[11.9900]11.999011.9999|.. |la= 2|...12.0001]12.001012.010012.10001]2.2000/|
10—x . x<3
oo L]
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [x+2 x<2 | ]
4 N x=2
No3=|f(x)=| 4 ;o 2<x<5|a=5
2 N x=25
L |-3+x x>95 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

3-x : x<=2
Nod = f(x)_[6x—2 cox> 2}
[a=-6,3=-2,y=0,0=5,e=2]

2x-1 x< -4
Ifx)=| 20 : 4<=x<4
Noa = dx-4 :  x>=4

[a=-5,=0,y=5,0=4,e=-4]

No6=[a=-12,B=-10,y=-8,5=1,=3]
DG R=-Te [CHESNVIVI VR IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00008XX

Limit02 piecewise for No.9616
-3x+6 x<3
No]—[f(x)—[ Sax x> 3},61—3}

x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.010013.100013.2000/
3 Do x< A4
NoZ:[fx 2[ a=4
() T—x : x>=47T
| x 13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000/
3+x x<3
6 R x=3
No3=|f(x)=| 6 ; 3<x<6|a=6
3 R x=6
L -3 +x x>6 i
| x |5.800015.900015.990015.999015.9999|.. |la= ©6]...]6.0001/6.0010]16.0100]16.100016.2000]
-3x+6 : x<3
t)-|
No4 = S+x = x> 3
[a=-5,=-4,y=0,0=2,e=3]
-7 : x <=-]
f(x)=| 2x-5 : -1 <x<=2
Noj = (x)
-3x-2 : x> 2

[a=-7,3=0,y=6,0=2,e=-1]

No6=[a=-12,B=-11,y=-2,5=2,£=10]
DGR Te [CHE N1} N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0.9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK XXX KKK KKK X XKKXKKKXXKKXME6/1-6400503-00009XX

Limit02 piecewise for No.10152
2x-1 x< -1
No]—[f(x)—[_3_x . _J,a—-l}

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
24+x : x<$5
N02:[f(x):[ 3 x>=5}’a:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [ 1+x x<2 | )
3 : x=2
No3=|f(x)=| 6 ;o 2<x<6|a=2
4 : x=6
L 12 -x x>6 i
| x 11.800011.900011.990011.999011.9999|.. |la = 2|...12.000112.0010]2.010012.100012.2000]|

2x—-1 : x< -]
Nod = f(x)_[—?)—x : x>-]}
[a=-3,3=0,y=3,0=5,e=-1]

5x+3 - x< -2
fx)y=| 2 ;- 2<=x<2
No5 = 3x+4 x> 2

[a=-4,3=0,y=5,0=2,e=-2]

No6=[a=-10,B=-8,y=2,56=8,£=9]
DGR Te [CHEN VISR IND:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:9:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00010XX

Limit02 piecewise for No.11738
Afl—[ﬂ y¢;3x+4 x < J} __1}
S S [ S S ]

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
4 Dox<=2
AbZ:[ﬂX)z[s_x . x>2:La=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [2+x : x<4 | ]
2 : x=4
No3=|f(x)=| 4 ;D 4<x<6|a=6
4 : x=6
L |—2+x x>6 i
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

f )_[—3x+4 : x<—]}
Nod=| "7l e6x-5 : x> -1
[a=-7,3=0,y=3,0=5,e=-1]

21 N x< -4
| f(x)=|-4x+5 . A4<=x<2
Nos = 3x+6 o x> 2

[a=-2,3=0,y=4,0=2,e=-4]

No6=[a=-6,B=1,y=3,0=10,e=12]
PN R-ET RN IENID 0:0'0.0:0:0.0'0:0:0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK KKK X XKKKKKXKKKMO6/1-6400503-00011XX

Limit02 piecewise for No.11754
—4x+4 x<3
No]—[f(x)—[7x+7 o 3},a—3}

x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
5 ;o x<=3
NoZ:[f(x)z[S_x : x>3}’a:3}
x 12.800012.9000(12.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]
i —1+x : x<35 | ]
3 : x=25
No3=|f(x)=| 4 ;o 5<x<8|a=8
1 : x=38
L Lx—=7 x>38 i
| x |7.8000]7.9000/7.9900]7.9990(7.9999|.. |a = 8]...[8.0001(8.0010(8.0100/8.1000(/8.2000]

f )_[—4x+4 : x<3}
Nod=| T 7x+7 : x>=3
L[ao=-4,=-2,y=0,0=4,e=3]]

3x+1 x<=-3
Nos = f(x)= 2x+1 : -3 <x<2
5 : x>=2

[ao=-1,p=0,y=6,0=2,e=-3]]

No6=[a=-10,=-6,y=2,0=6,e=12]
PN R-ETCRETNNRNID 0:60:0:0:0.0'0:0:0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKXKMO6/1-6400503-00012XX

Limit02 piecewise for No.11841
— <= _2
Nolz[f(x):[s v :},a:-Z}

2x-3 x> -2
x |=-2.2000]1-2.10001-2.0100]1-2.0010]-2.0001.. Ja = -2]...1-1.9999]1-1.9990|-1.9900|-1.9000|-1.8000
IT-x . x<=)5
Nozz{f(x):[ 8 x>5}’“:5}
| x 14.800014.9000/4.990014.999014.9999|.. |a = 5]...15.000115.0010]15.010015.100015.2000]
i [12-x : x<4 | ]
8 : x=4
No3=|f(x)=| 6 D 4<x<T7|a=17
6 : x=7
L -1+x x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|

5-x  x<=-2
Nod = f(x)_[zx—s : x>-2}
L[ao=-7,p=0,y=2,0=4,e=-2]]

-3x+5 x<=-3
Nos — fix)=| 2x+7 : -3 <x<1
9 : x>/

[ao=-7,p=0,y=6,0=1,e=-3]]

No6=[a=-12,B=-8,y=-1,8=1,e=12]
DGR Te [CHE SNV ON DN 1D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.0:0:0.:0:9:9.0.9:0:0.:9:9.9.0:0:0:0:9.9.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:9:0.0:0:0:0:0:0:0.0:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXKKXKKXXKXKXKXKXKK KK KK XXX KX KX KKXKKKKKKXM6/1-6400503-00013XX
Limit02 piecewise for No.11842

3x+6 x<=-2
NO]:_f(x):_—4x+5 . _2},612-2_
x |=-2.2000]1-2.10001-2.0100]1-2.0010]-2.0001.. Ja = -2]...1-1.9999]1-1.9990|-1.9900|-1.9000|-1.8000
7 Dox<A4
NoZ:_f(x):_ll_x : x>=4}’a:4_
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
[ (4% x<2 | ]
4 x=2
No3=|f(x)=| 4 2<x<J5|a=2
2 x=93
L 19 —x x>5 4
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

f )_[3x+6 : x<=—2}
Nod=| M7 4xt5 : x> -2
L[a=-3,p=0,y=5,8=7,e=-2]]

4x-2 x< -1
=] 6 o -1 <x< 4
Nos = 2x-6 : x> 4

L[ao=-7,p=0,y=5,0=4,e=-1]]

No6=[a=-5,p=-3,7y=8,8=9,£=10]
DG RE-Te [CHE SN VIONECH D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX XXX KKK KKK KKK KKK KKK X KKX KKK XKKXXKKME6/1-6400503-00014XX

Limit02 piecewise for No.11901
-2x+6 x<3
No]—[f(x)—[4x_1 o 3},a—3}

x |2.8000]2.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000|3.2000 |
9-x  x<HA4
NOZ:[f(x):[ 5 x>=4}’“:4}
| x [3.8000[3.900013.990013.999013.9999|.. |a = 4]...]4.000114.001014.010014.10001/4.2000]
I 2+x : x<5 ] ]
3 : x=5
No3=|f(x)=| 6 D 5<x<7|a=5
6 : x=7
L -1+x x>7 i
| x 14.8000/4.9000/4.9900(4.9990]14.9999|.. |a = 5|...]5.0001/5.0010]5.0100(5.1000(5.2000 |

2x+6 : x<3
Nod = f(x)_[4x—1 ©ox>= 3}
[a=-2,B=-1,y=0,0=7,e=3]]

-1-x x<=-4
| f(x)=] 5 D4 <x<=1
Mo = 3x+2 x> 1

L[ao=-5,p=0,y=5,0=1,e=-4]]

No6=[a=-10,B=-9,y=0,56=3,£=9]
DGR Te [CHE SNV ON RN 1D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK KKK KKK X KKKXKKKXXKKMO6/1-6400503-00015XX

Limit02 piecewise for No.11947
2x+2 x<3
No]:[fx :[ a=3
x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.010013.100013.2000/
x+2  x<=5
NoZ:[fx 2[ }azS}
() 8 coox>57
| x 14.800014.900014.990014.999014.9999|.. |la = 5|...15.000115.001015.0100]15.100015.2000/
8—x x<35
6 R x=25
No3=|f(x)=| 6 D 5<x<7a=17
6 R x=7
L -1 +x x>7 i
| x |6.800016.900016.990016.999016.9999|.. |la = 7]...]7.0001]7.001017.010017.100017.2000]
i 2x+2 : x<3
t)-|
X x> 3
L[ao=-7,p=-6,y=0,0=4,e=3]]
i 1 s x<=-3 ]
fix)=|4-x . -3 <x<1
5x-3 : x>=]
L[ao=-5,p=0,y=4,0=1,e=-3]]
No6=[a=-10,3=-3,y=2,0=4,e=10]
PN REI ISR N NICH D 0:010:0:00.0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0:0-0.0.0¢

No4 =

Nojb =




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKME6/1-6400503-00016XX

Limit02 piecewise for No.11989
2x-2 x<1
No]—[f(x)—[6x+1 o J,a—l}

x 10.800010.9000(10.990010.999010.9999|.. |a = 1]...11.000111.001011.010011.100011.2000]
9—x : x<=2
No2:[f(x)=[ 6 . x>2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [x+2 x<5 ] ]
5 : x=25
No3=|f(x)=| 5 o 5<x<8|a=8
5 : x=38
L 13 —x x>38 i
| x |7.8000]7.9000/7.9900]7.9990(7.9999|.. |a = 8]...[8.0001(8.0010(8.0100/8.1000(/8.2000]
2x-2 : x<1
Nod = f(x):[6x+1 cox>= J
[a=-5,B=-4,y=0,0=2,e=1]]
i 6+x : x< -3 ]
f(x)=|-5x-7 : -3 <x<3
Nod= 22 . x>=3
[a=-2,=0,y=7,6=3,e=-3]]

No6=[a=-12,B=-1,y=2,6=8,£=9]
DG RE-Te [CHE SN VI 0N RSN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0.9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKKXKKXKKXKXKXKXKX KK KK XKXKXKXKXKKXKKKKKKKXM6/1-6400503-00017XX
Limit02 piecewise for No.11996

3x-2 x<=-I]
No]:[f(x):[_4x+2 > ] ,a:-l}

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
x+2  x<3
No2:[f(x)=[ 5 x>:3_,a=3}
| x [2.8000(2.900012.990012.9990(12.9999|.. |Ja = 3]...]13.000113.0010]13.010013.1000(3.2000]
[ 6+x x<2 | ]
8 : x=2
No3=|f(x)=| 6 ;o 2<x<4|a=2
6 x=4
L x+2 x>4 |
| x 11.800011.900011.990011.999011.9999|.. |la = 2|...12.000112.0010]2.010012.100012.2000]|

3x=-2 = x<=-]
Nod = f(x)_[—4x+2 : x>-]:|
L[a=-6,=0,y=1,8=3,e=-1]]

-11 : x< -5
(f(x)=|3x+4 = -5 <x< 4
No3 = —4x-6 : x>=4

L[[ao=-1,p=0,y=3,0=4,e=-5]]

No6=[a=-3,B=-2,y=1,8=2,6=8]
DG RE-Te [CHE NNV ON VR D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.0:0:0:0:0:9.0:0:0:0.:9:9.9:0:0:0:0:9.9.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:9:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKKKKXM6/1-6400503-00018XX
Limit02 piecewise for No.12889

i [ 6x+5 x<=2] ]
Nol =| f(x) = a=2
_() L S5x x> 27 ]
x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000
[ 34x - x<2| ]
No2 =|f(x)= a=2
_( ) L 5 Dox>=27 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.0001]12.001012.0100]2.100012.2000/
7—x x<3
4 x=3
No3=|f(x)=| 4 3<x<5a=5
5 x=35
L L X x>95 i
| x 14.800014.900014.990014.999014.9999|.. Jla = 5]...]15.000115.001015.010015.100015.20001
—-6x+5 : x<=2
)=
No4 = 5x sox> 2
[a=-7,3=-2,y=0,0=1,e=2]
4 +x x<=-1
fx)=|-4x-5 : -1 <x<=2
Noj = (x)
-13 : x> 2

[a=-6,3=0,y=6,0=2,e=-1]

No6=[a=-10,B=-4y=-3,8=4¢=10]
DGR Te [CHE SNV ON RSN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKME6/1-6400503-00019XX

Limit02 piecewise for No.12890
-6x-3 x<2
No]—[f(x)—[3x_1 o 2},a—2}

x [1.800011.900011.990011.999011.9999|.. |a = 2]...12.000112.001012.010012.1000(2.2000 |
-1+x : x<$5
N02:[f(x):[ 4 . x>:5},a:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i (5+x : x<2 | |
7 x=2
No3=|f(x)=| 5 ;o 2<x<4|a=2
8 : x=4
L L1+x x>4 |
| x 11.800011.900011.990011.999011.9999|.. |la = 2|...12.000112.0010]2.010012.100012.2000]|

-6x-3 : x<2
Nod = f(x)_[3x—1 cox>= 2}
[a=-2,B=-1,y=0,0=5,e=2]

Sx+6 x< -4
fx)=| 26 ;- 4<=x<3
No5 = 4x+3 - x> 3

[a=-6,3=0,y=7,0=3,e=-4]

No6=[a=-7,=-3,y=2,0=9,e=12]
PN R=EY TN [ONECE [D'00/0:0:0.0:0:0.0:0:0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0 4



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXXM6/1-6400503-00020XX
Limit02 piecewise for No.12891

2x=-5 x<=1
Nolz_f(x):__6x_5 . ]_,azl_
x 10.800010.9000/0.990010.999010.9999|.. |Jla= 1|...]11.0001]1.001011.010011.10001]1.2000/
T—x . x<4
No2:_f(x)=_ | . x>:4_,a=4_
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [8—x x<2 | ]
8 N x=2
No3=|f(x)=| 6 ;o 2<x<5|a=2
5 N x=25
L L10—x - x>35 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

2x-5  x<=1
Nod = f(x)_[—éx—s cox> 1}
[a=-6,3=-1,y=0,0=5,e=1]

—4x-6 x< -3
Nos — fix)=| 2x+4 : -3 <x<=2
8 : x> 2

[a=-4,3=0,y=3,0=2,e=-3]

No6=[a=-11,B=-10,y=-9,5=-1,5=6]
DGR Te [CHE NI 0 ID:9:0:9:9.9:0:0:0.:9:9.9.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK KKK XXX X KKX KKK XKKXXKKXMO6/1-6400503-00021XX

Limit02 piecewise for No.12917
6x-7 x<-2
Nol—[f(x)—[_zxJrl . _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
4 Doox<A4
wor=[ =] 4T T fams]
| x |13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000]
i [ T-x x<3 ] ]
4 : x=3
No3=|f(x)=| 4 ;D 3<x<6|a=3
4 : x=6
i -4 +x x>6 i
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

f )_[6)6—7 : x<—2}
Nod=| " T[2x41 : x> 2
[a=-3,3=0,y=3,0=5,e=-2]

2x+5 : x< -1
| f(x)=] 5x-1 . -I<=x<3
No>= 24 . x>

[a=-2,3=0,y=4,0=5,e=-1]

No6=[o=-7,p=-3,y=1,8=4,6=9]
DGR Te [CHE NI 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKXMO6/1-6400503-00022XX

Limit02 piecewise for No.13099
-7x-6 x<2
Ab]—[ﬂx)—[2x+3 o ;La—2}

x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
6 ;o x<=3
AbZ:[ﬂX)=[7_x : x>3:La:3}
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
[ (7-x x<3 | ]
4 : x=3
No3=|f(x)=| 4 ;D 3<x<6|a=3
2 : x=6
L 18 —x x>6 ]
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

ﬂ)_[Jx—6 : x<2}
Nod=| "7 2x+3 : x>=2
L[ao=-7,p=-2,y=0,0=4,e=2]]

T—-2x x< -1
o=l 9 o il <x<=1
Nos = 5x-7 x> 1

L[ao=-4,p=0,y=5,8=1,e=-1]_

No6=[a=-8,B=-5,y=4,0=10,e=12]
P ONR-ETCCRETNPAID 0:0:0.0.0.0.00.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.00.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKXMO6/1-6400503-00023XX

Limit02 piecewise for No.13100
2x+2 x<1
No]—[f(x)—[7x_1 . J,a—l}

x |0.800010.900010.9900]10.999010.9999].. |Ja = 1]...11.000111.001011.010011.1000]1.2000 |
8—x : x<=9$5
No2:[f(x)=[ 4 . x>5},a=5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
[ 1+x x<5 | ]
6 x=35
No3=|f(x)=| 6 ;o 5<x<7|a=5
6 x=7
L x+2 x>7 |
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

2x+2 = x<1
Nod = f(x)_[n—l c x> J
L[ao=-4,B=-1,y=0,0=2,e=1]]

-3 : x<=-4
N fx)=|-T-x : 4 <x<=1
No = 3x+4 ;x> 1

[[o=-6,=0,y=6,0=1,e=-4]]

No6=[a=-9,p=-8,y=-6,8=-3,6=2]
DGR Te [CHE NI 02ICH D 9:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.9:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:9.9:0:0:0:0:9.0.0.0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKXKKKKXKXKXKXKXKKXKKKKKKKXM6/1-6400503-00024XX
Limit02 piecewise for No.13411

3—x x<=-2 |
Nol =| f(x) = ri2 x> _2},a:-2

x |=-2.2000]1-2.1000|-2.0100]-2.0010]-2.0001]. la = -2]...1-1.9999]-1.9990|-1.9900|-1.9000|-1.8000|
I+x : x<=35
No2:_f(x)=_ 7 x>5}’a:5_
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [ 1+x - x<5 ] ]
6 N x=25
No3=|f(x)=| 6 D 5<x<7|a=5
9 N x=7
L L16 —x x>7 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

Nod = f(x):[zxu c x> 2
[a=-5,=0,y=2,0=4,e=-2]

3—x x<=—2}

—4x-4 x< -4
Nos — fix)=| 3x+3 . 4<=x<1
6 : x> 1

[a=-5,=0,y=50=1,e=-4]

No6=[a=-12,B=-4,y=1,6=2,£=9]
DG RE-Te [CHE NI 0)2X 3 1D 9:0:9.9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK LXK KKK X XKX KKK XKKXXKKXMO6/1-6400503-00025XX

Limit02 piecewise for No.646101
- I x<1
No]:[f(x):[ Sx+lox },azl}

4x-4 x> 1
x |0.800010.900010.9900]10.999010.9999].. |Ja = 1]...11.000111.001011.010011.1000]1.2000 |
7 Doox<35
No2:[f(x)=[x+2 C e 5},a=5}
x |4.800014.900014.990014.999014.9999].. |a = 5]...15.000115.001015.010015.1000(5.2000 |
[ 6—x x<2 | ]
4 x=2
No3=|f(x)=| 4 2<x<5a=5
4 x=3
L L x x>5 J
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

3x+1 : x<1
Nod = f(x)_[4x—4 c x> J
[a=-6,3=-2,y=0,0=4,e=1]]

5x-3 x< -5
| f(x) = -3 DS <=x<=2
Nos = Dx+l x> 2

[a=-4,3=0,y=1,0=2,e=-5]

No6=[a=-10,B=-9,y=-4,5=8,¢=12]
DGR Te [CHE NI N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0.9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:9:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6400503-00026XX

Limit02 piecewise for No.646102
2x-6 x<1
No]—[f(x)—[6x+2 . J,a—l}

x |0.800010.900010.9900]10.999010.9999].. |Ja = 1]...11.000111.001011.010011.1000]1.2000 |
I+x  x<3
No2:[f(x)=[ 4 . x>:3},a=3}
| x [2.8000(2.900012.990012.9990(12.9999|.. |Ja = 3]...]13.000113.0010]13.010013.1000(3.2000]
i [x+2 x<2 | )
6 : x=2
No3=|f(x)=| 4 o 2<x<5)a=5
6 : x=93
L L1l —-x x>5 i
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

2x-6 : x< ]
Nod = f(x)_[6x+2 Cox> J
L[ao=-5,p=-3,y=0,0=2,e=1]]

-23 : x< -4
f(x)=| 5x-3 : 4 <x<H4
No3 = 3x+6 :  x>=4

L[ao=-5,p=0,y=3,0=4,e=-4]]

No6=[a=-10,B=-6,y=-58=4¢=10]
DGR Te [CHENN 102N D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKXMO6/1-6400503-00027XX

Limit02 piecewise for No.646103
— <
No]:[f(x):[ Stx o X 3},a:3}

-2x+6 x>= 3

x |2.8000]2.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000|3.2000 |
-1+x : x<=4
w37 e
| x [3.8000[3.900013.990013.999013.9999|.. |a = 4]...]4.000114.001014.010014.10001/4.2000]
i [ 9—x x<5 ] ]
4 : x=3
No3=|f(x)=| 5 D 5<x<7|a=5
5 : x=7
L |2+x x>7 i
| x 14.800014.900014.990014.999014.9999|.. |la = 5/...15.000115.001015.010015.100015.2000/|

f )_[—5+x oo x< 3}
Nod=| 7| 2x+6 : x>=3
[a=-6,3=-5,y=0,0=7,e=3]

Sx-2 x< -2
fx)=| 8 c 2<=x<2
No5 = 2x-2 i x>=2

[a=-3,3=0,y=7,0=2,e=-2]

No6=[o=-8,B=-6,y=-3,8=-2,6=6]
DGR Te [CHEN 102N D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00028XX

Limit02 piecewise for No.646104
-5x-3 x<1
No]—[f(x)—[6x_2 o J,a—l}

x 10.800010.9000/0.990010.999010.9999|.. |Jla= 1|...]11.0001]1.001011.010011.10001]1.2000/
I+x : x<3
N I
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [8—x x<2 | ]
5 N x=2
No3=|f(x)=| 6 ;o 2<x<5|a=2
8 N x=25
L 113 —x x>35 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

Sx-3 : x<1
Nod = f(x)_[6x—2 cox>= J
L[[o=-6,=-5,y=0,0=4,e=1]]

-5 : x < -/
(f(x)=|2x-3 = -1 <x<5
Nos = 3x43 :  x>=5

L[ao=-7,p=0,y=4,8=5,e=-1]]

No6=[a=-9,B=-5y=-1,8=0,e=3]
DGR Te [CHE NN I0)23 N 1D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK XXX X XKX KKK XKKXXKKME6/1-6400503-00029XX

Limit02 piecewise for No.646105
3x-6 x< -2
No]—[f(x)—[ Yo x  yo— _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
5 ;o x<=3
PN R Py
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [ x x<4 ] ]
7 x=4
No3=|f(x)=| 4 4<x<6la=6
4 xX=6
L -3+x x>6 i
| x 15.8000/5.9000/5.9900]5.9990(5.9999|.. |a = 6/.../6.0001/6.0010]6.0100/6.1000/6.2000]
3x-6 : x<-2
Nod = f(x):[z—x ©ox>= -2}
L[ao=-7,p=0,y=3,0=4,e=-2]]
i x+2 : x< -3 ]
flx)= -1 ;-3 <x< 4
Nod= 2x+4 : x>=4
[a=-5,=0,y=5,0=4,e=-3]]

No6=[o=-9,p=-2,7y=0,8=6,£=9]
DGR Te [CHE NI ID:9:0:9.9.9:0:0:0.9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK KKK KKK KKK X XKKKKKXXKKXME6/1-6400503-00030XX

LimitOZ piecewise for NO.646106
3X 4 x> '1 ’

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
3+4x . x<A4
NOZ:[f(x):[ 7 x>=4}’“:4}
| x |13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000]
i [11-x © x<2 ] ]
9 : x=2
No3=|f(x)=| 6 o 2<x<4|a=2
6 : x=4
L 10 —x - x>4 i
| x [1.8000/1.9000/1.9900]1.9990(1.9999|.. |a = 2]...[2.0001[2.0010(2.0100/2.1000(2.2000]

—-6x-3 : x< -1
Nod = f(x)_[sx—4 cox>= -1}
[a=-5,=0,y=1,0=2,e=-1]

—A4x-1 x< 4
Nos — fix)=| 2x-4 : 4<=x<1
-2 : x>/

[a=-3,3=0,y=2,0=1,e=-4]

No6=[o=-5p=-2,7y=0,8=3,6=9]
DGR Te [CHESNIVCI N IND:9:0:9:9.9:0:0:0.:9:9.90.9:0:0.:9:9:9.9:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:9.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKMO6/1-6400503-00031XX

Limit02 piecewise for No.646107
— 4 < -
Nolz[f(x):[ 3xt4 X 3},a=-3}

2x—-2 x> -3
x |=-3.2000(/-3.1000|-3.0100]-3.0010]-3.0001.. Ja = =-3]...1-2.9999]1-2.99901-2.9900|-2.9000|-2.8000
8—x  x<=3
No2:[f(x)=[ 5 x>3}’a:3}
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [ 1+x - x<5 | ]
6 N x=25
No3=|f(x)=| 6 D 5<x<7a=17
4 N x=7
L L11—x - x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|

f )_[—3x+4 : x<—3}
Nod=| " Tl2x—2 : x> -3
L[ao=-5,p=0,y=3,8=7,e=-3]]

-14 N x<=-2
Nos — fix)=5x-4 : -2 <x<1
T—x x>=1

L[ao=-5,p=0,y=4,0=1,e=-2]]

No6=[o=-8,B=-6,y=-1,8=0,e=8]
DG RE-Te [CHENNVIVC N IND:9:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKMO6/1-6400503-00032XX

Limit02 piecewise for No.646108
5x-5 x<-I
Nol—[f(x)—[_6x+2 x>_1},a—-l}

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
7 Doox<35
NO2:[f(x):|:x+2 : x>=5}’“:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [7-x x<2 | )
7 : x=2
No3=|f(x)=| 5 : 2<x<6|a=6
7 : xX=6
L 13 —-x x>0 i
| x 15.800015.900015.990015.999015.9999|.. |la = 6|...]16.000116.0010]16.010016.100016.2000|

S5x-5 : x< -1
Nod = f(x)_[—6x+2 : x>-]}
[ao=-7,p=0,y=2,8=7,e=-1]]

-5 : x<=-2
| f(x)=| 3+x = -2 <x<H4
Nos = 4x—4 - x> 4

L[ao=-1,p=0,y=5,0=4,e=-2]]

No6=[o=-4,B=-2,7=2,6=4,¢=6]
DGR Te [CHENN VSN D 9:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0:9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:9:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKXMO6/1-6400503-00033XX

Limit02 piecewise for No.646109
-4x+4 x<2
No]z[f(x):[ e },a:2}

2x-6 x> 2
x [1.800011.900011.990011.999011.9999|.. |a = 2]...12.000112.001012.010012.1000(2.2000 |
4 : x<=3
NOZ:[f(x):[l+x : x>3}’a:3}
| x [2.8000(2.900012.990012.9990(12.9999|.. |Ja = 3]...]13.000113.0010]13.010013.1000(3.2000]
[ (x+2 x<3 | ]
5 : x=3
No3=|f(x)=| 5 3<x<7la=17
7 x=7
L L x x>7 J
| x 16.800016.900016.990016.999016.9999|.. |la= 7|...]17.0001]17.0010]7.010017.1200017.2000|

—4x+4 : x<2
Nod = f<x)_[2x—6 Cox> 2}
[a=-5,B3=-3,y=0,0=7,e=2]

2x+5 x< 4
| f(x)=|-4x+3 . 4<=x<4
Nos = A3 - x>=4

[a=-2,3=0,y=1,0=4,e=-4]

No6=[a=-12,B=-11,y=0,86=1,£=6]
DG RE-Te [CHENIVCICH D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.0.9:0:0:0:9:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK XXX X XKX KKK XKKXXKKXMO6/1-6400503-00034XX

Limit02 piecewise for No.646110
NI_[f()_[sxw x<2:| _2}
LM T lrx—6 x>= 2077

x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
3+x  x<=4
PN e
| x [3.8000[3.900013.990013.999013.9999|.. |a = 4]...]4.000114.001014.010014.10001/4.2000]
i [4-x x<3 | )
1 : x=3
No3=|f(x)=| 4 ;o 3<x<7|a=1
6 : x=7
L L1l —x - x>7 i
| x [6.8000]6.9000/6.990016.999016.9999|.. |la= 7]|...17.0001]17.0010]7.0100|7.100017.2000]

f )_[5x+3 oo x< 2}
Nod=| 7| 7x-—6 : x>=2
[a=-4,3=-2,y=0,0=4,e=2]

12 N x< -2
Nos — fi(x)=|-5x+2 : -2<=x<3
x+4 : x>=3

[a=-3,3=0,y=2,0=3,e=-2]

No6=[a=-9,B=-6,y=-5,8=1,6=2]
DG RE-Te [CHENNIVCY N 1D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:9.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK XXX KKK X XKX KKK XKKXXKKXMO6/1-6400503-00035XX

Limit02 piecewise for No.646111
4x-7 x< -1
Nol—[f(x)—[_3x_1 o _J,a—-l}

x |-1.2000]-1.1000]-1.0100]-1.0010]-1.0001].. Ja = -11...1-0.99991-0.9990|-0.9900|-0.9000|-0.8000|
24+x : x<$5
N02:[f(x):[ 3 x>=5}’a:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [ 5-x x<4 | ]
1 : x=4
No3=|f(x)=| 4 ;D 4<x<6|a=4
6 : x=6
L |2+x x>0 i
| x 13.800013.900013.990013.999013.9999|.. |la = 4|...14.000114.001014.010014.100014.2000](

4x-7  x< -]
Nod = f(’C)_[—3x—1 ©ox>= -1}
[a=-6,3=0,y=4,0=6,e=-1]

3x-2 x< 4
| f(x) = -5 D4 <=x<2
Nos = Dx—1 :  x>=2

[a=-6,3=0,y=4,0=2,e=-4]

No6=[a=-11,=-10,y=-6,5=10,&=12]
DGR Te [CHE NIV IN D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00036XX

Limit02 piecewise for No.646112
— <:_]
Nolz[f(x):[sx 7o :},a:-l}

—-6—-x x> -/

x |-1.2000]-1.1000/-1.0100]-1.0010]-1.0001].. |Ja = -1]...1-0.9999]-0.9990|-0.9900|-0.90001-0.8000
11T-x . x<4
it
x 13.800013.9000[13.990013.999013.9999|.. |la= 4|...14.0001]14.001014.010014.100014.2000/
i [x+2 © x<3 | ]
3 : x=3
No3=|f(x)=| 5 ;D 3<x<6|a=3
5 : x=6
L |-3+x x>6 i
x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.0100]13.100013.2000

Sx-7 : x<=-]
Nod = f(x)_[—6—x : x>-]}
L[ao=-3,p=0,y=1,8=5,e=-1]]

S5x+1 - x< -2
=] 9 - 2<x<4
No5 = 3x-6 : x>=4

L[a=-3,p=0,y=3,0=4,e=-2]]

No6=[a=-8,B=-3,y=-1,8=9,6=10]
DGR Te [CHEN VSIS D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL XKL KKK KKK KKK X XKX KKK XKKXXKKXMO6/1-6400503-00037XX

Limit02 piecewise for No.646113
T7x-3 x< -1
No]—[f(x)—[6_x . _J,a—-l}

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
3+4x . x<2
No2:[f(x)=[ 5 . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ (x+4 x<2 | ]
6 : x=2
No3=|f(x)=| 4 D 2<x<5|a=2
4 : x=95
L 19 —x x>5 ]
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

Tx-3 : x< -]
Nod = f(x)_[6—x : x>-]}
L[ao=-5,p=0,y=1,8=3,e=-1]]

2x+5 x<=-5
| f(x) = -1 coS <x< 1
No3 = 4x+3 o x>=1

L[ao=-2,p=0,y=7,8=1,e=-5]]

No6=[a=-9,B=-7,y=-2,8=6,£=8]
DG RE-Te [CHEN IV R D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.9:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00038XX

Limit02 piecewise for No.646114
dx+4 x<1
No]—[f(x)—[_3x_7 o J,a—l}

x 10.800010.9000(10.990010.999010.9999|.. |a = 1]...11.000111.001011.010011.100011.2000]
5-x : x<=2
No2:[f(x)=[ 5 . x>2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i —1+x x<3 ] ]
2 : x=3
No3=|f(x)=| 5 D 3<x<7|a=17
2 : x=7
L |—2+x x>7 i
| x [6.8000]6.9000/6.990016.999016.9999|.. |la= 7]|...17.0001]17.0010]7.0100|7.100017.2000]

4x+4 = x<1
Nod = f(x)_[—sxn cox>= J
L[ao=-4,B=-1,y=0,0=4,e=1]]

4x+7 x < -/
Nos — fix)=|2x-1 . -1 <x< 4
-9 : x>=4

L[o=-6,=0,y=6,0=4,e=-1]]

No6=[a=-12,B=-8,y=2,8=4,¢=8]
DGR Te [CHENNOICI N D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.0:0:0:0:0:9.0.9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0:9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6400503-00039XX

Limit02 piecewise for No.646115
Tx-7 x<=-2
Nol—[f(x)—[ 5y x> _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
I1-x : x<35
Nozz{f(x):[ 6 x>=5}’“:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [9—x x<4 ] ]
5 N x=4
No3=|f(x)=| 5 D 4<x<T7|a=17
4 : x=7
L -3+x x>7 i
| x [6.8000[6.9000/6.9900[6.9990/6.9999|.. |a = 7|...[7.0001]7.0010[7.0100]7.1000]7.2000 |
Tx-7 : x<=-2
No4 = f(x):[ -S5x . x> -2}
[uo=-6,3=0,y=3,0=6,e=-2]]
i 2x-6 : x<-2 ]
f(x)=| 5x+1 : -2 <x<3
Nod= 16 . x>3
[a=-5,=0,y=5,6=3,e=-2]]

No6=[a=-9,p=-8,y=-4,8=1,6=10]
DGR Te [CHE NIV ION D 9:0:9:9.9:0:0:0.:9:9.0.0:0:0:9:9:0.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0.9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX KKK XKL KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00040XX

Limit02 piecewise for No.646116
No]—[f(x)—[3x+3 x<_2}a— 2}
B L7 -x x>= 207

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
24x . x<=)5
N02:[f(x):[ 3 x>5}’a:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [3+x x<2 | ]
5 : x=2
No3=|f(x)=| 5 ;o 2<x<4|a=4
5 : x=4
L L12—x x>4 i
| x [3.8000]13.9000(3.990013.999013.9999|.. |a = 4]...14.000114.001014.010014.100014.2000]

3x+3 1 ox< -2
Nod = f(x)_[—7—x ;ox>= -2}
L[ao=-4,=0,y=5,8=7,e=-2]]

14 - x< -4
I fx)=|-2x+6 4 <x<1I
No5 = 3x4+2 - x> 1

L[ao=-7,=0,y=7,0=1,e=-4]]

No6=[a=-11,p=-10,y=-58=-1,e=10]
DGR Te [CHE NNV X/A 0N ID:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:0.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK KKK X XKKXXKKXXKKXMO6/1-6400503-00041XX

Limit02 piecewise for No.646117
4x+3 x<2
No]—[f(x)—[_6x+5 o 2},a—2}

x |1.800011.9000[11.9900]11.999011.9999|.. |la= 2|...12.0001]12.001012.010012.10001]2.2000/|
4 ;oo x<3
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [9—x x<4 | ]
5 N x=4
No3=|f(x)=| 5 D 4<x<T7|a=17
5 N x=7
L |-3+x x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|

f )_[4x+3 : x<2}
Nod=| "7l 6x+5 : x>=2
L[o=-7,p=-6,y=0,0=6,e=2]]

-5 : x <=-4
| fx)=| -1+x = 4 <x<1
Nos = 4x-1 : x>=1

L[ao=-1,p=0,y=4,0=1,e=-4]]

No6=[a=-10,B=-6,y=2,6=4,£=9]
DG RE-Te [CHE NNV OX/ N ID:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00042XX

Limit02 piecewise for No.646118
T-x x<1
Nol—[f(x)—[6x+2 . J,a—l}

x 10.800010.9000(10.990010.999010.9999|.. |a = 1]...11.000111.001011.010011.100011.2000]
8 ox<3
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [x+4 x<5 ] ]
6 : x=25
No3=|f(x)=| 6 D 5<x<7a=17
6 : x=7
L 13 —x x>7 i
| x 16.8000/6.9000/6.9900]6.999016.9999|.. |la = 7|...[7.0001[7.0010]7.0100/7.1000]7.2000]
T—-x = x<1
Nod = f(x):[6x+2 cox> 1}
[a=-5,B=-2,y=0,0=5,e=1]]
i 18 x<=-4 |
Nos — fx)=|4x+2 . 4 <x<35
3+x ; x> 5
[a=-5,=0,y=3,0=5,e=-4]]

No6=[o=-9,p=-4,7y=3,5=8¢c=12]
DGR Te [CHE NI 0X/VN I 0:0:9.:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK XKLL KKK KKK KKK KKK XKKXXKKME6/1-6400503-00043XX

Limit02 piecewise for No.646119
<1
No]z[f(x):[3x+7 o },azl}

—“4x-1 x>=1
x |0.800010.900010.9900]10.999010.9999].. |Ja = 1]...11.000111.001011.010011.1000]1.2000 |
7-x : x<=3
No2:[f(x)=[ 4 . x>3},a=3}
x [2.8000[02.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000(3.2000 |
i [ 34+x x<2 | ]
7 : x=2
No3=|f(x)=| 5 ;o 2<x<4|a=4
5 : x=4
L -1+x x>4 i
| x 13.800013.900013.990013.999013.9999|.. |la = 4|...14.000114.001014.010014.100014.2000](

3x+7 o o x<1
Nod = f(’C)_[—4x—1 cox>= J
L[ao=-5,p=-3,y=0,0=6,e=1]]

3x+3 x<=-5
Nos — fix)=|-2x-5 : -5 <x<1
-7 : x> 1

L[[o=-4,=0,y=6,0=1,e=-5]]

No6=[o=-9,B=-8,y=-5,8=-3,£=10]
DG RE-Te [CHE NI X/ICH D 9:0:9:9.9:0:0:0.:9:9.0.0:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK KKK X XKKXXKKXXKKMO6/1-6400503-00044XX

Limit02 piecewise for No.646120
<2
No]z[f(x):[6x+6 o },a:2}

-3x-3 x>=2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
7 ox<2
NoZ:[f(x)z[g_x . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ X x<4 | ]
3 x=4
No3=|f(x)=| 4 4<x<6la=6
7 : xX=6
L L1 +x x>6 ]
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

f )_[6x+6 sox< 2}
Nod=| 7| 3x=3 : x>=2
[a=-7,B=-4,y=0,0=5,e=2]

-4x+7 : x< -3
fx)y=| 19 ;- 3<=x<5
No5 = S5x+1 - x> 35

[a=-7,3=0,y=6,0=5,e=-3]

No6=[a=-10,p=-1,y=3,8=4,e=12]
DG RE-Te [CHE NI 0X/Y/ 3 1D 9:0:9.:9.9:0:0:0.9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.0:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKKKXM6/1-6400503-00045XX
Limit02 piecewise for No.646121

~Tx-2 x<=-]]
No]:[f(x):[4x_2 > ] ,a:-l}

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
1 Dox<=2
NOZ:[f(x):[l+x : x>2_’a:2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [ x x<5 ] ]
5 x=9)
No3=|f(x)=| 5 S5<x<7|a=5
5 x=7
L -3+x x>7 i
| x 14.8000/4.9000/4.9900]4.9990(4.9999|.. |la = 5/.../5.0001/5.0010]5.0100/5.1000/5.2000]
-Tx-2 : x<=-1
Nod = f(’C):[4x—2 : x>-]:|
[a=-5,=0,y=2,0=4,e=-1]]
i 1 cox<=-1 ]
f(x)=|2x-1 : -1 <x<2
Nod= 4x-6 : x>=2
[ao=-6,=0,y=1,6=2,e=-1]]

No6=[a=-11,B=-9,y=-3,5=2,=3]
DGR Te [CHE NI Y/IN D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9:0:0:0:0:9.9.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XXX KKK KKK KKK KKK KKK X KKX KKK XKKXXKXKXME6/1-6400503-00046XX

Limit02 piecewise for No.646122
-7x-4 x<2
No]z[f(x):[ Jx—4 x },a:2}

3x=7 x> 2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
5 ;oo x<)
NoZ:[f(x)z[S_x Dox>= 5}’61:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [5+x x<2 ] ]
7 : x=2
No3=|f(x)=| 5 : 2<x<6|a=6
5 : x=6
L L1l —x - x>0 i
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

-T7x-4 : x<2
Nod = f(x)_[sxn s x> 2}
[a=-7,B=-1,y=0,0=4,e=2]

-3x-4 : x<=-2
fx)=| 220 : 2 <x<=4
No5 = 4x+6 - x> 4

[a=-1,3=0,y=1,0=4,e=-2]

No6=[a=-8,B=-3,y=-2,0=-1,e=12]
PN R=EY TN [VAS [D'0:0.0:0:0.0:0.0.0:0:0.0:0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6400503-00047XX

S5x-2 x< 3})61:3}

Limit02 piecewise for No.646123
Nolz[fx :[
(x) —2-x x>=3

x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
I+x © x<3$5
NOZ:[f(x):[ 8 x>=5}’“:5}
x 14.800014.900014.990014.999014.9999|.. |a = 5]...15.000115.001015.010015.100015.2000]
i [x+2 x<2 | ]
4 : x=2
No3=|f(x)=| 4 2<x<6la=2
3 : x=6
L -3+x x>6 i
x [1.8000(1.9000(1.9900(1.9990[1.9999|.. |a = 2|...[2.0001[2.0010[2.0100[2.1000[2.2000 |
5x-2 : x<3
Nod = f(x):[—z—x ;ox>= 3}
L[o=-6,=-5,y=0,0=7,e=3]]
i 18 o x<=-3 ]
f(x)=| 5x-3 . -3 <x<H4
Nod= 2x-7 :  x>=4
[auo=-6,3=0,y=2,0=4,e=-3]]

No6=[o=-8,B=-1,7=3,8=4,6=9]
DGR Te [CHE NI 0X/ W D 0:0:9:9.9:0:0:0.9:9.0.9:0:0.:9:0:9.0:0:0.:0:9.0.9:0:0:0:0:9.0.0:0:0:9:9.9.0:0:0:0:9.0.0:0:0:0.9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX XXX KKK KKK KKK KKK KKK X KKX KKK XKKXXKKME6/1-6400503-00048XX

Limit02 piecewise for No.646124

i [—4x+5 x<=3| |
Nol—_f()c)—_zx+2 x>3_,a—3_
x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.010013.100013.2000/
[ (7-x : x<3| ]
No2:_f(x)=_ 4 . x>:3_,a=3_
x 12.800012.900012.990012.999012.9999|.. Jla= 3|...13.000113.001013.010013.100013.2000]
i [ 6+x - x<2 | i
6 R x=2
No3=|f(x)=| 6 ;o 2<x<6|a=2
6 : x=6
L L12—x - x>06 i
x 11.8000]1.9000[1.9900]1.9990]1.9999]|.. |a = 2|.../2.000112.0010(2.0100(2.1000/2.2000 |
i —4x+5 : x<=3
Nod = f(’C)_[2x+2 cox> 3}
L[ao=-5,p=-3,y=0,0=5,e=3]]
i 2x-6 x< -4 ]
= — N - < <=
Nos — f(x) S5—-x = 4 <x 1
4 : x>/
[ao=-2,p=0,y=7,0=1,e=-4]]

No6=[a=-8,B=-6,y=0,5=1,e=4]

X [Page = 0048] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKKKXKKKKKKXKXXX KKK KKK KKK KXKKKKX




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XXX KKK KKK KKK KKK KKK X KKX XXX XKKXXKKME6/1-6400503-00049XX

Limit02 piecewise for No.646125
6x-6 x<-2
Nol—[f(x)—[_7x+5 . _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
1 Dox<=2
NOZ:[f(x):[l+x : x>2}’a:2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [2+x : x<5 | ]
3 : x=25
No3=|f(x)=| 4 D 5<x<7|a=17
4 : x=7
L 11 —x x>7 i
| x 16.8000/6.9000/6.9900]6.999016.9999|.. |la = 7|...[7.0001[7.0010]7.0100/7.1000]7.2000]

f )_[6)6—6 : x<—2}
Nod=| 7Tl 7x+5 ; x> -2
[a=-3,3=0,y=2,0=7,e=-2]

-24+x x< -2
| f(x)=|-4x-5 . -2<=x<3
Nos = 17 - x>=3

[a=-5,=0,y=2,0=3,e=-2]

No6=[a=-10,B=-8,y=-55=6,¢=12]
DGR Te [CHE NN IX/AON ID:9:0:9.9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XXX XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6400503-00050XX

Limit02 piecewise for No.646126
—4x+6 x< -1
Nol =| f(x)= ,a=-1

3x+2 x> -1

x |-1.2000]-1.1000/-1.0100]-1.0010]-1.0001].. |Ja = -1]...1-0.9999]-0.9990|-0.9900|-0.90001-0.8000
9—x : x<HA4
P
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
[ (x+2 x<2 | ]
4 N x=2
No3=|f(x)=| 4 ;o 2<x<4|a=2
4 N x=4
L 5—-x x>4 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

f )_[—4x+6 : x<—]}
Nod=| 7 3x42 - x> -1
[a=-5,=0,y=6,0=7,e=-1]

-5 : x<=-2
| f(x)=| 5x+5 . -2 <x<=4
Nos = 2x+6 x> 4

[a=-3,3=0,y=5,0=4,e=-2]

No6=[a=-11,B=-8,y=0,5=3,=6]
DGR Te [CHE NIV 0N IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6400503-00051XX

Limit02 piecewise for No.646127
6x-3 x<-2
Nol—[f(x)—[_4x+2 . _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
T—x : x<2
No2:[f(x)=[ 5 . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [ 54x x<2 | ]
5 : x=2
No3=|f(x)=| 5 ;D 2<x<6|a=2
5 : x=6
L -1+x x>6 i
| x [1.8000]1.900011.990011.9990]11.9999|.. |la = 2]...12.000112.0010]12.010012.100012.2000]

f )_[6)6—3 : x<—2}
Nod=| "M 7Tl4x+2 : x> 2
[a=-4,3=0,y=3,0=5,e=-2]

—S5x-2 : x< -4
Nos — fix)=| x-7 : 4 <x<=2
-5 : x> 2

[a=-2,3=0,y=5,0=2,e=-4]

No6=[o=-7,p=-1,7=2,8=8,6=9]
DG RE-Te [CHE SNV NN D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:9:0.0:0:0:0:0:9:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXM6/1-6400503-00052XX
Limit02 piecewise for No.646128

-7x+5 x<=3
Nolz_f(x):_zx_5 x>3_,a=3_
x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
3+4x . x<=4
No2:_f(x)=_ 2 . x>4_,a=4_
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [ x x<5 | ]
6 x=95
No3=|f(x)=| 6 5<x<8|,a=8
6 ; x=348
L 114 —x - x>8 i
| x |7.8000]7.9000|7.9900(7.9990|7.9999|.. |a = 8|...|8.0001/8.0010/8.0100(8.1000(8.2000 |
-Tx+5 . x<=3
Nod = f(x):[zx—s ©ox> 3}
[a=-6,=-3,y=0,0=2,e=3]]
i 2x-6 : x<=-4 |
fix)=| 4x+7 : 4 <x<2
Noa = 15 & x>2
[a=-5,=0,y=1,6=2,e=-4]]

No6=[a=-8,B=-5y=-3,8=10,g=12]
DGR Te [CHE NIV D 9:0:9:9.9:0:0:0.9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0:9:9.9:0:0:0:0:9.0.0.0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXMO6/1-6400503-00053XX

Limit02 piecewise for No.646129
5x x<-3
No]—[f(x)—[_z_x . _3},61—-3}

x |=-3.2000(/-3.1000|-3.0100]-3.0010]-3.0001.. Ja = =-3]...1-2.9999]1-2.99901-2.9900|-2.9000|-2.8000
T—x . x<4
No2:[f(x)=[ 4 . x>:4},a=4}
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [ 1+x - x<5 | ]
6 : x=95
No3=|f(x)=| 6 o 5<x<8|a=5
6 : x=38
L L15—-x x>8 i
| x |4.8000(4.9000/4.9900(4.9990/4.9999|.. |a = 5|...]5.0001/5.0010/5.0100(5.1000(5.2000 |
Sx o ox< -3
Nod = f(x):[—z—x : x>-3}
[ao=-6,=0,y=4,6=5,e=-3]]
i 4x-5 : x<=-51]
f(x) = -6 DS <x< 2
Noa = Sx+4 ;x> 2
[a=-2,=0,y=6,6=2,e=-5]]

No6=[a=-6,p=-2,7y=0,8=6,£=10]
DGR Te [CHE NIV ICH D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:9:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXMO6/1-6400503-00054XX

Limit02 piecewise for No.646130
—4 x x< -2
No]—[f(x)—[?,x_3 Lo _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
5 ox<2
NoZ:[f(x)=[3+x : x>=2}’a:2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ (x+4 x<3 | ]
7 : x=3
No3=|f(x)=| 5 3<x<5a=3
4 : x=15
L L X x>35 i
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

—4x o x< -2
Nod = f(x)_[sx—s ;ox>= -2}
[a=-1,=0,y=6,0=7,e=-2]]

3x+5 x< -3
fx)=| 22 ;- 3<=x<=5
No5 = 4x-2 x> 5

[a=-2,3=0,y=1,0=5,e=-3]

No6=[a=-11,p=-7,y=0,5=8,5=12]
DGR Te [CHEN VST N D 0:0:9:9.9:0:0:0.9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢
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